Q1 : One of the following is true about treating person with disabilities :
a) Describe the person, not the disability XXX
Q2 : The main cause of maternal mortality is :
a) Hemorrhage XXX
Q3: Stage 5 of demographic transition model :
a) Population size is decrease. XXX
Q4: Base of growth pyramid represent to :
a) Birth rate XXX
Q5: What is the wrong sentence for one year old girl :
a) Screened of hearing loss (not sure)
Q6: Wrong sentence about prenatal cause of disability :
a) Lady pregnant Rh+ and her husband Rh- have children with Rh
incompatibility. XXX
Q7: Destroying of all type of microorganism called :
a) Sterilization XXX
Q8 : microorganism caused Food poisoning or intoxication :
a) CL.botulinum XXX
Q9: Best way to reducing diarrhea is :
a) Hand washing XXX
Q10: consuming contaminated water :
A) water borne disease XXX
Q11: Not use is household treatment of water :
a) freezing XXX
Q12: What is wrong about care for convalescence :

a) Full participation in physical education activities should be observed XXX

Q13: Village with 5000 population, births are 200 and the deaths are 80
persons, which 21 infant mortality and 1 maternal death, what the growth
population of the village :
a) 24 b) 0.8 c) 2.4 XXX d)40 e) 100
Q14: a 5 years old child :
a) his body proportion similar to adult XXX
Q15: suitable growth chart for each case :
a) Weight for height BMI for overweight and obese XXX
Q16: Wrong about cancers in old age :
a) Most common is prostate and lung XXX
Q17: Leading cause of death while aging :
a) diabetesXXX
b) cardiovascular disease



Q18:

Q19:

Q20:

Q21:

Q22:

one of the following dose not prevent STDs :

a) IUD xxx

Wrong statement about contraceptive methods:

a) all contraceptive are safe

b. all of them have the same risk

One of the following can be Ensure its effectiveness by shaking test:
a) DTP XXX

When the disease finished and not found in labs :

a) eradication

b) extinction XXX

c) Elimination

A 2" year medical student from mutah university went to a school to

educate about H1N1, this education called :

Q23:
Q24:
Q25:
Q26:
Q27:
Q28:
Q29:
Q30:
Q31:
Q32:

Q33:

Q34.

a) incidental XXX

One of the following is wrong about public health :

a) Aims to cure disease XXX

wrong statement :

a) IPV used to eliminate poliomyelitis XXX

one of the following statements is wrong about storage of vaccines :
a) BCG and measles is dark brown vials against damage by heat XXX
Motor — leg movement

1 year old baby can't use scissor

School children vaccine is :

a) DT XXX

School with 200 students, all are true except :

a) 8 toilets for them XXX

What the part of growth pyramid represent migration :

a) sides of pyramid XXX

Wrong statement :

a) We give phenylalanine to treatment phenylketonuria patients XXX
Longest health sector :

a) MOH XXX

the base of growth pyramid refer to :

a) birth rate XXX

Baby born 4KG, what their old when become 9KG :

a) 8 months XXX

b) 9 months

c) 2 years



Q35) the suitable way use when population double in size :

a) Growth rate XXX

Q36) one of the following vaccine not affected by freezing is :

Q37:

a) OPV XXX
one of the following is incorrect :
a) Adequate ventilation can be provided by window area of at least 50% of

the floor area XXX

Q38:

Q39:

Q40:

Q41:
Q42:

Q43:
Q44.
Q45:
Q4eé6:

Q47:
Q438:

used for population study :

a) distribution XXX

b) fertility

c) mortality

d) morbidity

e) migration

first vaccine against cancer :

a) HBV XXX

chose the incorrect statement :

a) in the period of convalescence, physical activity is encouraged XXX
Jordan has met MDG 4 - WRONG
contraceptive method for continuation :

Wrong about elderly prevention :

iatrogenic which type of prevention :

Wrong about lactation method in family planning :
how many contant for mother to MHC in 2" trimester :
a) 5 contact

2"d stage of development high birth and lower death indicate :
one of the following considered gross motor :

a) movement of eye

B) movement of hand

c) movement of leg XXX

d) holding pencil

e) movement of finger



